
1919334 /
1919504

B31 CRUTCH HOLDER TYPE ONE Plan No.
E00049016/D.1

Scale: 1:4 Drafted Verified Confirmed
Date 8/12/2022 6/08/2024 6/08/2024

Initials SD PM AS

BOM
No. Plan Article Qty
1 P00048573 2085054 1
2 Y017126 1740054 1
3 Y023056 2051554 1
4 M6x16 DIN912 1001492 1
5 25x25 1001617 2
6 D22 1908818 2
7 5X16 DIN7337A 1901989 1
8 D3x10 2992305 4
9 M8x35 DIN912 2994318 1

10 M8x45 2990016 1
11 M8x16 2990024 1
12 --- 2993635 1
13 M8 DIN985 2994009 1

Adaptor kit 1919334= 1+4+9+13

VERMEIREN

12

7

3

2

10
11

5

13

8

6

5

6

8

4

9

11

1


